INDIAN INSTITUTE OF TECHNOLOGY KANPUR INSTITUTE WORKS DEPARTMENT DIVISION-III

Enquiry No.: IWD/Div-III/2025/.4.1.4

Dated: [0]12|2025

QUOTATION NOTICE

M/s	
The quotations under sealed covers are	invited for "Replacement of damaged fire

The quotations under sealed covers are invited for "Replacement of damaged fire line in FA **D-Block**" from the requisite similar type of agencies are invited. The duly filled quotation shall be received on or before 17/12/2025 up to 01:00 PM and shall be opened on same day at 04:00 PM in the presence of the representative of the quotationer, who wish to be present. (The quotation must be submitted in the format as per annexure A)

The quotations should be enclosed in a properly sealed envelope addressed to the Superintending Engineer (IWD), Indian Institute of Technology, P.O. I.I.T Kanpur-208016. Enquiry No. and the due date should invariably be given on the envelope.

Selection Criteria:

- 1. The firm should have valid GST Registration, PAN the same should be submitted along with the bid. In the absence of these particulars the quotations are liable for rejection.
- 2. Firms/Contractors must have completed satisfactorily.
- i) One similar work of 80% value of the estimated cost put to tender Or
- ii) Two similar work of 60% value of the estimated cost put to tender Or
- iii) Three similar work of 40% value of the estimated cost put to tender
- 3. The firm should have an average turnover of at least 5 lacs during the last three years.

Terms and conditions:

- 1. The rates offered should be with GST.
- 2. According to standard terms, payment shall be made after its completion. Payment against Performa invoice shall not be made.
- 3. The quotations shall remain open for acceptance for four weeks from the date of opening.
- 4. Necessary statutory deductions shall be made from the bills.
- 5. The Institute has right to reject all or any of the quotations and to split up the requirements or relax any or all of the above conditions without assigning any reason.

- 6. The work shall be executed as per entire satisfaction of the Engineer-in-charge in time with all labour, materials & T&P etc. complete with all respect.
- 7. A penalty of 5% shall be charged if required work is not completed by due date.
- 8. The period completion is 30 days from the date of supply order.
- 9. The rates quoted shall be FOR IIT Kanpur.
- 10. Site visit must be done by the bidder before quoting their rates.
- 11. If the bidder makes any modification in the terms and conditions of the bid, which is not acceptable to the Institute, then the Institute shall, without prejudice to any other right or remedy, be at liberty to suspend the bidder for one year.

Executive Engineer-III, IWD

Copy to: - 1. Notice Board.

2. Institute web site for up loading the quotation.

INDIAN INSTITUTE OF TECHNOLOGY KANPUR INSTITUTE WORKS DEPARTMENT DIVISION-III

Name of Work: Replacement of damaged fire line in FA D-Block.

S.No.	Description of Item	Qty	Unit	Rate i/c GST	Amount i/c GST
1	SITC of M.S Black Pipe "C" Class (IS:1239/3589) Including Cutting, welding etc. & providing suitable flanges along with necessary fittings viz. bends, tees, reducers etc. & anticorrosive treatment. (Jindal / Surya / SAIL / Tata) 100 mm dia.(min.thickness 5.4mm)	3.00	Mtr	1788.00	5364.00
2	SITC of M.S Black Pipe "C" Class (IS:1239/3589) Including Cutting, welding etc. & providing suitable flanges along with necessary fittings viz. bends, tees, reducers etc. & anticorrosive treatment. (Jindal / Surya / SAIL / Tata) 80 mm dia.(min.thickness 4.8mm)	1.00	Mtr	1465.00	1465.00
3	SITC of Single headed SS Hydrant Valve comprising of 80 mm dia. Flanged bend, 63 mm dia. SS Oblique pattern landing valve conforming to IS 5290 (type A) with blank Gunmetal/Stainless Steel cap and chain as required. (Life Guard, Zoloto, New Age, Safe Zone, Safex)	1.00	Nos.	7800.00	7800.00
4	SITC of GM Fire brigade 2 way Inlet connection. 63 mm dia. Complete in all respect. (Firex, Safex, NewAge, Safe Pro)	1.00	Nos.	15100.00	15100.00
5	SITC of Cast Iron double flanged Non Return Valve of PN 1.6 complete with nuts, bolts and washers conforming to IS 5312. (Zoloto, Karatar,) 100 mm dia.	1.00	Nos.	7500.00	7500.00
6	SITC of C.I double flanged Butterfly Valve of PN 1.6 complete with nuts, bolts & washers etc. conforming IS 780 (Zoloto, Kirloskar, L & T) 100 mm dia.	2.00	Nos.	8600.00	17200.00
7	Demolishing cement concrete manually/ by mechanical means including disposal				
7.1	Nominal concrete 1:3:6 or richer mix (i/c equivalent design mix)				

	FA D Block	0.38	cum	2434.25	912.84
8	Nominal concrete 1:4:8 or leaner mix		-	2131.23	712.04
	(i/c equivalent design mix)				
8.1	FA D Block	0.63	cum	1503.60	939.75
9	Earth work in exacavtion by		-	1203.00	757.75
	mechanical means			E. Kylen o.	
9.1	All kinds of soil				
	FA D Block	9.38	cum	260.30	2440.31
10	Filling available excavated earth		Cum	200.50	2440.31
	(excluding rock) in trenches, plinth,		1-11		
	sides of foundations etc. in layers not				
	exceeding 20cm in depth,				
	consolidating Each deposited layer by				
	ramming and watering, lead up to 50				
	m and lift upto 1.5 m.				
	FA D Block	0.63	cum	196.00	122.50
11	Providing and laying cement concrete				
	of specified grad(1 cement :5 coarse				
	sand: 10 graded brick aggregate 40				
	mm nominal size).				
	FA D Block	0.63	cum	6201.15	3875.72
12	Providing and laying in position				
	cement concrete of specified grade				
12.1	1:2:4 (1 cement : 2 coarse sand : 4				
	graded stone aggregate 20mm				
	nominal size)				
	FA D Block	0.50	cum	7878.50	3939.25
13	Kota stone slab flooring over 20 mm				
	(average) thick base laid over and				
	jointed with grey cement slurry mixed				
	with pigment to match the shade of the				
	slab, including rubbing and polishing				
	complete with base of cement mortar				
2.1	1:4 (1 cement: 4 coarse sand):				
3.1	25 mm thick				
1	FA D Block	6.25	sqm	1948.25	12176.56
4	Disposal of building rubbish / malba /				
	similar unserviceable, dismantled or				
	waste materials				
	FA D Block	2.50	cum	263.95	659.88
otal Estimated Amount					79,496/-
	Quote Percentage above/below (%)				
uotec	l Amount in Rs.				

Executive Engineer-III, IWD